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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt all questions.

3. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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2. asft we Fifde . 8. Explain the fallacies (any two) : (3%2=6)
3. FE W -9 W IT AN a1 B ol v v ¥ G, At A wren ARA (Rl @ @)
W I AT WA U B B AR |

(1) Undistributed middle

1. Differentiate between (any three) : (5%3=15) ST HEH T A

Pl % 97 iR (Rt < =) (i) IMlicit ma:ior
. : . st e e A
(i) Sentences and Propositions ‘

(iii) Existential fallacy

qEG TE qEharad
I Ay

(i) Inductive and Deductive Arguments

IR O e e 9. In what figure or figures, if any, can a valid standard

_ form categorical syllogism have only one term

(iii) Truth and Validity distributed, and that one only once? (5x1=5)

eIl ¥E e _ OR
(iv) Arguments and Explanations In what figure or figu;cs, if any, can a valid standard

: : form categorical syllogism have a particular premise
gftr ve = : ;
and a universal conclusion?
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(i)

(ii1)

10

Some juices are health drinks, so some juices
are not. sugary drinks because some sugary drinks

are not health drinks.
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All medal winners are professionally trained

sportsperson and all medal winners are

beneficiary of government schemes. Therefore,

all beneficiaries of.government schemes are

professionally trained sportspersons.
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2. Reduce the following propositions into standard logical

form (any six) (1x6=6)
frffaa aatareml &t wFeE SRR § wwaRa W (el
TE W)

(i) Only ladies are allowed to travel in the first

coach of the metro.

I B TR A Raw AR A AW TS B
Il 21

(ii) Every student is learning.
ye et 9| w #

(iii) All doctors are not surgeons.

ot Riftrers wie - Riftveass 7@ 2

(iv) Many women are self-employed.

wgd ARe |- A B
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(v) A lion is a carnivorous animal. (i) OIO-4
I UEH AEEN TR B (iii) AIO-1
(vi) Pomegranate is never Seedless. (iv) AAA-2
SR N R A . 7. Arrange the followi'n'g syllogisms into standard form,

mention the mood and figure and test the validity by

(vi) Plants are living.
syllogistic rules and fallacies method : (6%2=12)

e woiE B #
P = gfts & S aiffe smem ¥ =Rl S

(viii) Sports are sometimes risky. | AR T IR TEEd IR I duar = PR vd A A

Fa - AR w7 B B Rfer & el & wleor i

(i) Some actors are talented people as all

3. Do as directed: ‘ actors are artists and some artists are talented

i people.
Ho A wfmaed @i 81 2, wgiE wh afde
(a) Give the conver_sion of : (any two) (2x1=2) _ M 2 o i s

oRadr AR (Rt @ @) - 2
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(i) Quantity and Quality (i) All civil servants are graduates.
o sk R | o Riftw o wEE B
(i) Traditional Square of Opposition (ii) Some stones are precious things.
s Ry HO TR TeqaE aegd 8l
(ii1) Distribution of Terms (iii) Some employees are not officers.
o @ e w5 wHad R 8§
(iv). Existential Import | R (b) Give the obversion of : (any two) (2x1=2)
ST e ‘l J \ wadT AR (R & =)

(i) All reptiles are vertebrates.
6. Test the validity of the following syllogisms by venn

diagram method (any three): (4x3=12) | o qlgy geau £ 1
¥ v B Rl & wam wwa g3 Peaffea @ dua &) (i) No students are criminals.

P S 5 faef gmd @ 3

(i) AEE-3

P.T.0.
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| (ii)) Some flowers are not fragrant.
HT T GEER T
(c) Give the contraposition of : (any two)
sRRadT SRE (Rt @ @)

(i) No warriors are cowards.

g qar FRR 6 2

(ii) Some patients are not vaccinated.

HO A w S T8 g B

(iii) Some residents are owners.

Fo Fadt W - 81

4. If *All researchers are scholarship holders’

(2x3=6)

is True.

What would be the truth value of : (any three)

(2x3=6)

3048 7

afe ‘et Mt SR uwe 2w 2, A fefn @
e qe w B (et <)

(i) Some researchers are non-scholarship holders.

wFo Muwd - omEgf avew ?)

(i) Some non-scholarship holders are non-

researchers.
%o F-oEgR s - Mt 2
(iii)- No scholarship holders are non-researchers.

%ﬁzm@%tmmahﬁﬁﬁﬁaﬁﬁn

(iv) All non-scholarship holders are non researchers.

o - uRE or- e 2

Write short notes on: (any three) (6x3=18)
G Ruddt e (fedt o9 W)
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